
• Warm-up

– At the circus, a person in the audience at ground level 
watches the high-wire routine.  A 5-foot-6-inches tall 
acrobat is standing on a platform that is 25 feet off the 
ground.  How far is the audience member from the 
base of the platform, if the angle of elevation from the 
audience member’s line of sight to the top of the 
acrobat is 27

• Questions

• Quiz
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Objectives

• Content Objective: I will solve for missing sides 
of triangles in application using right triangle 
trigonometry, Pythagorean theorem and the 
law of sines and the law of cosines.

• Social Objective: I will use time wisely and not 
distract others.

• Language Objective: I will read problems 
carefully for details and draw pictures that 
follow those descriptions.



Questions



Trig Quiz

https://www.youtube.com/watch?v=MDwBvmfRRRc
https://www.youtube.com/watch?v=MDwBvmfRRRc

